BO™M 2023 EBE=FRFEFRENSH
ER

1~8 BE/IME 3 47, 44 24 &y ER/NES HMEANETIR, RE-—REFSEBERN, 9 ~ 3/ ESNE4 5,
#20 5, E8MERHANTERP, AETERARFSEAERN, £MENNSR 4 5, EHEFL2NE2 7,
BREENFO 5

L.C 2.A 3.D 4.D 5.C 6.C 7.B 8.C 9.CD 10. AB
1.AC  12.BD  13.BD

&
irz

14. (1)BD(4 41)

1

Ty (9 () 1__7 L —_
(2)@®BD(24r) @<(24) “3""'.1:,7 L s

(241)

15. (1)E(2 %)
(2) B RT7R (3 4, Zh AR B 28 e Fe st ik 45 1 20, i ih e B /L Bl 45 1 4, SR BICHTE i B 4
Jr. HLEEPENEREIE A bR E B R, fF54 1 40)
(3)4.4(243) 22.0(143) 97.5(241)

16. (1)JE4M AD i 16 0 247 F MBSt Asestse , £ 4 =30° TG A o =60° (149)
SIS E AB K9 A E EL £ ABO =30°, BULITX R ITADEAE 0 469 378H0 B=30° (1)
AT A 0 =SS (UASE R 0 =5 (24)

i o v L 3 i S < [ .
(2) R AR AR sin €= = JARAE B 4409 ASHAE 60° sin 60° =2 otk E 1Rk 2R
(143)
A FHRE LB BT 2% 24)

AL F AT A, S MBS S P i Y € B D T iIE S, 6D = A0 =§L (14r)




17. (D) BAARSA BEIF] C SiHEEE S v, , HEIREE BT m g (h +R) :%mlr;f, (143)

‘f’t/\ﬁﬁ?% v, =4 m/s

B/ AR A FEFLRAG A C SRS F, o HARSE F, - mg=m, F (14)
R ABER F, =50 N
AR = SR AR A TEBILIRAIC AT, € A BREYFE S AN R Fy = F, =50 N (143)
(2)3%/INABR A 5/ AR B % A SRS GO S K o, o,
1 B s MU BESFE TS myv, =m0, + myp, (141)
%m,yg =%m,u3 +%m3vg (143)
S AR AR v, =2 m/s (143)
(3)iAALR B # ERABUS /IS B R A B I A3 o, a,
1M, g =mya, ’»:’“
g ) 7,&}“?
g =, (my + M) g = Ma, ?;Xw/ . (145)
RASES a, =4 m/$ 0, =1 /s N -
AR A B 5 KA IS 0 50,0 =yt (143)
X',
RAEHETG 1=0.45 @;ﬁ” ‘
e ¢ P/ B BIREES x, =vzz—l§”a.f , (149
N
. k(}‘ E
TRASETS x, =0.48 m e
-%\4»
T ¢ PR AR RS v, =2, N (14
RABIES x, =0.08 m M?ﬁ
VAR B 5 KA 2 [ PR 457 3 Q = pymag (3, — 3, (143)
FRAEHES 0=4.8) (141)
18. (1) H » B A B G AR T 7eRE 5 o ) I B SR L 40 r
BB 2 A HRBEL0T1 gu,B, =m > (149)

REEREHEFE B, =%,4twf r=R

Rz Sh 4k nE B 7R




X
BT A B C fngfa 1, =2 = TR (149)
Uy LY

TR OM 5 x iy Jeff 0 =45°,CD =R
CD_R

ﬁ?};kC@JDEQJNI'ﬁJ13=D—=U— (143)
i D SR T TS 2, KB « By BRI S T R
202
iy TR o = L5 =20 (14)
PR T D 503k x L F s h o, , 00 R:%azi (140
oAy =, [BR K
BT BRI « SOOI £ =1, +1, +1, (141)
4)R »
;=% d”% (144)
FERIRIE Y E /5735 AR x, = vty o (144)
FOAT %0 =ty =1, + =R N
’ R
HIF RIS S B AL BRI O OBERE di= CD + v, (149
d=2R N%‘," (14%)
(2) B PR 5% , B O, BIGFS5 OM #1411 0, (k52K r, .qutggém - )
\lrz—muﬂ 2| ﬁ @a‘u} i
8= pr AR =TR N (143)
.
AL RS DO = (V2 + 1), =(g+.),¢,@?& (143)
e
) FA:%R [EI . (143)
£ FAG =45° (145)
FIF IR -4 Hh 7 0 5 0 16 9 A 7 0° ~ 135° (0 28 5 ST 3RBE 5 B, J5 0T LA P 9630 A ST 3
% (14)






